EARAROBREBRT —5 XN—ZXBISH—F

202242598 (OK) 11@F#3H

LY >R C 284 YSFZ—& (m | mewE - | v wo
[xE€] 1%&:270,000H  2&:81,000H  3&:41,000H ./ 43%&:27,000 " . 53&:14,000 3
& % B FRERS /M M BF (T2) I4 L (BE) | BEIBA | B3F | SIEH | AR | AE | B FIR) / BE / £ERS
s HEE - 1-1- - EA (S
1155 | PN ad— RN 1'(3_5)'3 I ) (4310) ﬂig%X S
Rib—trIa—sy B:HYIUIILNIR—=)L Himis
N ~ H 4 FEIBRER 1:35.8 5-4-4-4 | 40.4 = 3 467 | BEHIES (%)
] 4 [NBLTOY 56.0 (2 1/2) o) (@) J PNHIZ‘TJH
RIN=VITSA B:T7—AY /=Y Tr—I
\ ~ a4 135, 39— . _ i gy
3111 FVIT0= o4 | B (173;78) 4322 |[41.2 2 (4_3:5) %ﬁzg(m
R:D—)VRI—R B:IY/IARS VY KBRS
— ~ = t 4 | HMAEIE 1:36.9 2-2-3-3 |41 - 1 432 | JIE3LE (EH)
4 6| ¥NO—Fv27 o £ 54.0 () 2 @wmmé
RiXITT«4 B:HYPFYI1TU— AN
n = = [REFE : -6-5- - BEUK (T
5 2 ZXIFPILTFIR 4 7 ?41?)% 1.(337).6 6-6-5-5 | 41.8 6 (4+565; t;(:ﬁzﬂﬂ( (55#)
RN—EVIv— B:ITTF4FITIRUR BEEHU5
e TEEATE .38, e . — LHEE ()
6 5 Y3 T 4t 5 *SO.OE 1 (3536 3-5-6-6 | 42.6 5 :1:325; 394:1% N
R:TSADVT— BIRARKI—3R EvIUy RIT7—LA
@ 1—F—&BIE(I
1J—3F— |5,6.,3,1.4,2
20— — 5,6,1,4,3,2
30—7+— |5.,1,6,4,2,3
4J—7F— |[5,1,6,4,2,3
0 ILRE
BB 5 650/ JA R 4-5 330 B E 4-5 1,630 3ER 1-4-5 910M
BB 5 3004 1-5 250 o= 5-4 3,440 3Es 5-4-1 9,700H
4 170/ 1-4 2004

ABIC OV TRUTEREERRODDZE. THRIIZEL.



